Between both problem solving tools, I decided to choose the Fish-bone Analysis.  I'm not good at drawing, so I'm going to describe the diagram instead.
   This diagram is based on the previous company I worked at.  So, the title Lack of profit would be written on the bone of the fish.  Then the little bones would consist of second-hand and free equipment, lack of advertising, lack of skills and knowledge about business and dishonesty.  
  Then, the effects of these causes would branch out, which include demotivated employees, lack of visitors, stressed out employers and employee turnover.
  In order to overcome these problems, I will suggest a solution for each point.
  First of all are second-hand and free equipment.  Although getting original equipment like original Personal Computers aren't possible, lack of work efficiency can be overcome by coming to work before the allocated time.  As a matter of fact, employees and employers can turn on their PCs as soon as they step into the office.  By doing this, the PC will be ready to be used by the time one has to start work.
  The second problem that needs to be addressed would be lack of advertising.  The company's employers were those who weren't familiar with social media.  Therefore, they didn't have other ways of advertising aside from the traditional ways of publishing it in a newspaper or advertising it on television.  In order to overcome this problem,  they should conduct a meeting with their employees to brainstorm on different platforms to advertise the business.  During the meeting, the employers should be open-minded to their employees' opinions and discuss on the best solution.  In fact, the employers can guide the employees on what they should write before posting it through the social media platform they have chosen together.  Then, the employees must play their part by constantly asking their employers for any updates relating to the business so that they can keep the company's followers up-to-date.  This in turn will result in more visitors coming to participate in the activities organized by the company.  
  The next problem to be addressed would be lack of knowledge and skills in business.  When I was working at this company, all the employees had little to no knowledge to even start a business.  So since the employers would like to earn profit without spending any money, they should allow their workers to find online classes to gain knowledge about the subject.  In fact,  An hour should be allocated everyday for the workers to search for information and present it to the employers.  Through this technique, the employers can gain new knowledge on how to improve the business.  As a result, they can choose the best business strategy to use to increase profit.  Thus avoiding dishonesty happening in the company.
  The last problem that should be addressed is dishonesty.  Honesty happens to be the best policy, especially when hiring an employee. Unfortunately, the employers did not have a clear     strategy on how to hire and treat their employees well.  In fact, there were no written contract for the workers and the contract for the driver states that his/her working hours are from 9 to 5.  But, when a driver was hired, he found out that he had to work up to midnight with no extra payment added to his salary.  Therefore, resulting in his resignation.  So, this situation can be resolved by preparing a clear written contract for all employees so that they know what to expect when embarking on their new job.  
  To conclude, one may not have all the knowledge to be a great leader.  But, one did learn that planning and preparation, as well as honesty are ingredients for a successful organization.

